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Topic:- Physics

1) If the earth is assumed to shrink half the present radius without change in mass, its time period
of spin around its own axis will: /

gfe a1 & % gt & soaar | faar ufvad= gu ag ada Bem 3t endt fagps wrdt 8, ot
gt & 31U 318 IR IRT 3R THA Bt 3afe:

1. decrease by 25% / 25% d Yc ST
2. decrease by 75% / 75% ddh Yc SRR
3. increase by 50% / 50% Wa_(.f'\_rlTaTﬁl
4. increase by 75% / 75% Wa?{\_ﬂajﬁl

Correct Answer :-

« decrease by 75% / 75% do YUC ST

2) If the acceleration due to gravity at the surface of the earth is ‘g’ then its value at a point which
is at a height h =R is:
[where R is the radius of the earth] /

u%qzagaﬁmwwa?ww‘g’%aﬁwﬁgwmnﬂwma‘rﬁa’mﬁ%h
=RUI&:
[S1ef R 72t #Y A= 3

1. V2 g
2. g/8
3.g/2

4. g/4

Correct Answer :-



3) When the transistor is in common- base mode the current gain is found to be 0.98. What is the
current gain when the transistor is in common -emitter mode? /

oIq gifoRex SIHH-99 His § § df 4T af 0.98 Ui} 75 | o7 @fstr @ gt wig giforex
PIHA-AR AIS HBI?

1.49
2.49
3.7.8
4.78

Correct Answer :-

- 49

4) When light passes from one medium to another , the parameter which remains constant is: /
19 UPHTRI U HIeaH o gox W1 ¥ ofrar g, df fraa 78+ aren IRiftex &:
1. Amplitude / TITH

2. Velocity / aT

3. Wavelength / qaree
4, Frequency / \31'@'&'[

Correct Answer :-

« Frequency / &n?gﬁr

5) When does a convex mirror form a magnified image? / T 3JxI¢l SuuT Udh 3maftd ofd #9
CEIGIEH

1. When object is at F. / OId d¥] F R B B

2. When the object is beyond 2F. / oId d¥d 2F I IR It %I

3. When the object is between F and R. / Id d¥] F IRRF ST H B B

4, Convex mirror cannot form a magnified image. / 3T U U 3afdfd B9 T8 &1 gehdn gl

Correct Answer :-

 Convex mirror cannot form a magnified image. / 3T a'd:UT Uh 3Tafdd ofa :|%°f CRIESEI %l



In a simple harmonic oscillator, what are the kinetic energy and potential energy levels at the mean
position? /

T WA STadi e d, a1 fRufa w® foe Saf ok Rufow Sof wr | gia &2
1. Both kinetic and potential energies are minimum /
Tt $fR RUfS e gl g git & |
2. Both kinetic and potential energies are maximum /
it TR RUfTS Sl A Siftiepad g1t &
3. Kinetic energy is maximum, potential energy is minimum /
TSt Soit Sffireh e gt &, R Seil e gl &1

4. Kinetic energy is minimum, potential energy is maximum /

Tt Seit gAaH gl &, FRufast Soif arfiead gt 1

Correct Answer :-

« Kinetic energy is maximum, potential energy is minimum /

Tt St tferemad gl 5, FUfas SHoif gAad gt 5|

7) r,, is the radius of nt? orbit of a hydrogen atom.The radius of a hydrogen like atom of atomic

number Z is: /

v, T TSI URHTY & 9l e 3t FIwa 71 7 TRHTY] TS aTe) TR 3 U greg o
aﬁﬁﬁm%

N |2

4.

Correct Answer :-



A telescope is used to resolve two stars separated by 4.88 x 10%rad. If the wavelength of light used
is 592 nm, then the aperture of the objective of the telescope is: /

TP gIdI- BT YA, 4.88 x 100 If&TT gRT gyapd ol ari & fAfda e & forg fear sman
81 afe UHTRT &1 a0 ¢ 592 nm B, I gAMb SHTUTIID BT GRS HII:

1.1.48 x 10"'m
2.145x10'm
3.1.5x10'm
4.14x10'm

Correct Answer :-

e 1.48x10m

9) A body of mass ‘m’ is moved along a circular path of radius ‘r’ with constant speed ‘v’. The
work done on the body to complete one revolution is equal to: /

'm' GSOHTT 91T U fTa frad =rd v A 3T ' aTel MATeR Uy UR g9 oiTdT 8| U
TFPH T B & e g W fvar a1 o1f 396 /IR 8:

1. Mrv?2

2. Mvr

3. Zero / [

10) A boat at anchor is rocked by waves whose crests are 100m apart and velocity is 25m/s. The
boat bounces up once in every .

THY IR TP 19 a1 3 fad! 8, e e 100 31 gt ) § 3R a1 25T B 1 o udw
_ WITad

1. 8s
2. 16s

3.0.25s



4, 4s

Correct Answer :-

e 4s

11) A body weighs 72N on the surface of the earth.Its weight at a height which is equal to half the
radius of the earth is: /

TS (o &1 ao1 Yl Ft Tds W 72 Yed 31 gt Ft Hoar @Y sneht & ReaR A R
DT g9 R

1. 32N /32 A
2. 34N/ 34 e
3. 36N / 36 g2
4. 28N /28 Ycd

Correct Answer :-

. 32N/327geA

12) A body is projected with an initial velocity ‘u’ at an angle 30°with the horizontal. At what
another angle should the body be projected with same initial velocity so that the horizontal range in
both the cases is the same? /

afas & 1Y 30 fE F1v1 R v YRIYS 3 'v' & 1Y T g &1 yafta fear smar 2|
frpra #) I URMS 31 F Iy frg wivr uR yafud fear s aifee aife St fRufa &
afrer Jrar gu 8

1. 45°
2.75°
3.50°

4. 60°

Correct Answer :-

e 60°

13) A body moves through a distance of 10m under the action of force F = 10N. If the work done is
50J, then the angle which the force makes with the direction of motion is: /



TP [T, HRA 9 F=10 Y & diid 10 HicX 1 g3 79 Har g1 afe fvar mar &d 50
A §, Al a8 PV JTd DIOIE St g B T D1 = & [ T &:

1. 45°
2.30°
3.0°

4. 60°

Correct Answer :-

e 60°

14) A metal plate whose thickness is equal to half the plate separation is introduced between the
plates of parallel plate capacitor. The capacitance .

TS YT We DRIt diers Wie & Srenmd & 3imeft & sR1aR 8, SU JHHIGR We GuTia @1 el
& St wirfua far sirar 31 enfar |

1. gets halved / 3¢ 81 STt 8

2. gets doubled / ﬁ'ﬂzﬂ HSIGl %’

3. remains unchanged / 3TURafdd gd &
4. becomes infinite / ORI €3f STl %’

Correct Answer :-

. gets doubled / SN[ B ST &

15) Two point charges + q and — q are kept inside a large metallic cube. Electric flux emerging out
of the cube is: /

Y fig SMMaRT + q T - q T TS UTfeas ¥4 & fiek 3@ T | 791 | Frpam aren fagyd varg &:
1. Zero / YU
2q

7 0

M

2N
=

M



Correct Answer :-

o Zero /U

16) Two tuning forks of frequencies 254Hz and 250 Hz are made to vibrate simultaneously. The
number of minima occurring in 3s will be:/

254Hz 3R 250 Hz 3MgFIAl & g WG BT TP J1Y HU AT a1 8 | 3 Gbs H g aral

1. 18
2. 12
3.9

4.6

Correct Answer :-

17) Two identical beakers are fully filled with water at a certain temperature. One of them is
heated up and other is cooled down. It is observed that the water overflows from both the beakers.
The temperature at which they are fully filled is: /

< T SR T A amA R R AU A W U E | S0 A U ol T fpar mar @
3R gk &1 o1 forar T @ | 7g Wiera fvan Siman 2 fp i sl 9 it areR fAeaan g1
ReETmA RIgHRE I R geE as A &:

1.277K
2.373 K
3.227K

4.273 K

Correct Answer :-

« 277K

18) Electromagnets are made of soft iron because soft iron has .

fagga g U @8 | o+ gt § T gy e o oIk

1. high susceptibility and high coercivity / 3= JUTIdI Td 3 EDIIRG]

2. high susceptibility and low coercivity / 3 JUTGIdT Td 5 g



3. low permeability and high coercivity / 9 ORIl Ud S el
4. low permeability and low coercivity / 9 URTRgan ud e e

Correct Answer :-

« high susceptibility and low coercivity / 3o JATEIdT T (Y g

19) A constant force acting on a body of mass 3 kg changes its speed from 2.0 m/s to 4.0 m/s in 20s.
The magnitude of the force is: /

3 fhaum sogwT a1d e e R $1ivd U fad 96 39! 91d 31 20 s | 2.0 Hiew
b F 4.0 e AP s o ufvafda 2 Ta1 81 a8 &1 uRw01 &:

1.0.3N /0.3 g
2.0.32N/0.32 e+
3.0.26N / 0.26 <gcH

4.0.18N/0.18 =g

Correct Answer :-

. 0.3N/0.3geA

20) A particle falls towards earth from infinity.Its velocity on reaching the earth would be: /
TS HUT 3 A Yl Bt 3R Rar 31 gt 99 Ug=q W) 391 A7 ghm:

1. Infinity / 3/9d

2. 2\(gR)

3. Zero / ][
4.\2gR

Correct Answer :-

.« V2gR

21) Which two optical phenomena are responsible for the optical illusion ‘Mirage’? /
o1-1 g gt ufvaeany, yoria ya R & forg Screrd gl &2
1. Reflection and dispersion / WRIGA 3R Y Iv

2. Reflection and total internal reflection / TRTc 3R P 3{TAND TRTacH




3. Dispersion and total internal reflection / U0 3R P 3R TRIadA
4. Refraction and total internal reflection / 30dc 3R Dol 3fidfRes TRIacH

Correct Answer :-

« Refraction and total internal reflection / 30dc 3R Dol 3fidRes TRIacH

22) Which of the following assumption doesn’t belong to the Kinetic theory of gases: /

Frufafed & & $1-30 uron 3461 & Wi Rigia & |&fia 78 6

1. Collisions are almost instantaneous. /
U YFMR ARG 8Id B |

2. Between two successive collision the molecules move along a straight line. /
&) SHHNTA JUS & a1 310] U Aleft a1 bt ofas H Fad B |

3. The collisions of the molecules with each other are perfectly elastic. /
T R & 1Y 30l & Tue I aRe I AT B ]|

4. The molecules always exert a force of attraction or repulsion on each other. /

3{U] IR Th G TR TGN I Yfh S0 1 9 @I & |

Correct Answer :-

« The molecules always exert a force of attraction or repulsion on each other. /

310] BHRM Ueh GER TR 3B T UGB YT BT &1 TN & |

23) Which of the following statements is FALSE about a particle moving along a circular path with
a uniform speed? /

?Hmﬁﬁﬁ-mﬁmwwwﬁwﬁmwwwmﬂwﬁaﬁﬁm

1. The velocity and acceleration vectors are perpendicular to each other / QT 3R T SR Uh @% &
NESCRA

2. The velocity vector is tangential to the circular path. / AT I MATHR TY T IR %I

3. The acceleration vector is tangential to the circular path. / «dUl e MATPR 9y ¥ WRiET % I

4, The acceleration vector points to the center of the circle. / <dXUT HI%EU qd % % L°FY Eﬁ_d %I

Correct Answer :-

« The acceleration vector is tangential to the circular path. / <d<Ul gfe MATPR UY A WIRI %I



24) A block rests on a rough inclined plane which is making an angle of 30° with the horizontal.
The coefficient of static friction between the block and the plane is 0.8. If the frictional force on the

block is 10N, then the mass of the block is: [Take g =10 m/sz] /

TSP 1P, TP I 3M-d JHad UR fehT garm & it afast & 11y 30 f&3h &1 Hror s @1 3|
P 3R A & AL WP THU1 BT OIS 0.8 § 1 Tl AP TR YN 96 10 e 8, Ol sAld

BT G : [HIF T ¢ = 10 M AFS?)
1. 2.5kg /2.5 fopam
2.4.0 kg / 4.0 fopun

3.2.0 kg /2.0 T
4.1.6kg/ 1.6 T

Correct Answer :-

. 2.0kg /2.0 B

25) A liquid cools from 60°C to 40°C in 7 minutes.What time does it take to cool from 40°C to
28°C.if the surrounding temperature is 10°C? /

TP 5d 7 e & 60°C W 40°C 9 SSTRIAT 21 40°C & 28°C dF ST g & fhd=IT IHg T &,
gfe mur (ufad=n) &1 a9 10°C 82

1. 600s
2. 840s
3.210s
4. 420s

Correct Answer :-

e 420s

26) If R and R, are the filament resistances of a 200W and 100W bulbs respectively, designed to
operate on the same voltage, then which of the following relation is CORRECT? /

gfg R, 3R R, HHRT: 200W 3R 100W TR Feqal & fharde @q) ufaRiy &, 5 g9 diees W)
Tarferd w31 & e fewrsa frd e €, ot g A @ -1 Tdy a8 32

1. R2 = 2R1

2.R, =4R,



3. RI = 4R2
4, Rl = R2
Correct Answer :-

. RZ :2R1

27) The length of a rod is measured as 10.003m. The number of significant figures present is: /
TH IS $t Aq1S 10.003H R ATdt 7 7 | IufRya A sip! #1 HE=T 3

1.3

2.5

3.0.04

4.2

Correct Answer :-

28) The loss of power in a transformer can be reduced by ./

U SIABTHR | faggd g &t o fpar o aFar gl

1. increasing the number of turns in primary coil / PG %?ﬂ d ‘Q'J:I'Iﬁh D1 BT B sl

2. increasing a.c voltage applied to primary coil / IjEar m W Wm%ﬂﬂ dicel Bl delhR
3. using a solid core made of steel / Taa e Th 319 HIS BT IUANT HIh

4, using a laminated core of soft iron / IXH dAlg & URAGR HIs BT IUAN TReh

Correct Answer :-

« using a laminated core of soft iron / "XH Q'1\I% & UrRdalk IS BT ITINT BB

29) The magnetic moment of a freely suspended magnet is 100 Am? when it is placed at an angle
30° with the direction of uniform magnetic field of 2 tesla. The torque acting on it is: /

T Wad & 4§ fafad gao o1 gasia mguf 100Am? g1 8 99 59 2 ST & THIA
YaP 1T & B o= & Ty 30 FEIH BYo1 0 347 oI | 59 TR Brikd qaSmyef €:

1. 100V2Nm

2. 50Nm



3. 100Nm
4. 200Nm

Correct Answer :-

« 100Nm

30) The magnetic lines of force over a certain region due to the horizontal component of earth’s
magnetic field at that region are .

wﬁ%ﬁﬁqﬁ%@%%%w%wwmwwﬁwm

1. equidistant parallel straight lines / THGIRS FHMIAR Hreft Ty
2. parabolic lines / me
3. elliptical lines / 3TSTHR @Y

4. concentric circular lines / Habl ol Q1I¢>I<i"\§TQ

Correct Answer :-

« equidistant parallel straight lines / JHgI®| AR ?ﬁ‘iﬂw

31) The ratio of the radii of the nuclei of 13A127 and 52Te125 is: /

13A1%7 3R 57Tel?5 & TS Ff BT &1 SIUTd %:

1.40:17
2. 1:4
3. 14:73

4, 3:5

Correct Answer :-

32) The focal length of a convex lens of glass of refractive index 1.5 is 2 cm. The focal length of the
lens when immersed in a liquid of refractive index 1.25 will be: /

1.5 TP 10 BT S TP 3T AF I BIHW gt 2 JHI §1 AF B Bidvw gt 71 gRA o
S 1.25 UqdHi® ardl avdl | = foran Sran &:

1.2.5cm /2.5 99t



2.5cm/ 5 IH!
3. 1cm/13H
4.3cm/3®'5ﬁ

Correct Answer :-

. SCm/SQTﬁ

33) The condition in which all real gases approach the behaviour of ideal gas is at: /
gz fRufa forad ot arafae 19 sire=t i 9t Wifd saasR o @l 6

1. High pressure and high temperature / 3= Gld 3R 3= AgHEH

2. High pressure and low temperature / 3™ qld 3R g arom

3. Low pressure and high temperature / 79 319 3R 3= AuHE

4. Low pressure and low temperature / 9 g R Ay argaE

Correct Answer :-

» Low pressure and high temperature / 9 g9 3R I=a amuHH

34) The value of the universal gravitational constant is: / CICIEED chur fradie s1a=

1.6.67x 10 1 N m? kg2

2.6.67x 10 7 Nm? kg'2

3.6.67x 10 1 N m? kg?

4.6.67x 10 1! N m? kg2

Correct Answer :-

e 6.67x 101N m?kg?

35) The peak value of 220V a.c is: / 220V E.ﬁ &1 RREv aF %:
1. 220V

2.220\2V

3.440V



220
4 A2V

Correct Answer :-

. 220\2V

36) The source of sound generating a frequency of 3kHz approaches an observer with a speed of
0.5 times the velocity of sound in air. The frequency heard by the observer is: /

3 fraieds ot Mg I H A1 TP G &1 i, ga1 6 a1 & A & 0.5 T 916 & 1Y
TP TUAd&® Dt 3R ST 8 | THAEd gRI A1 T3 S1gi &:

1. 6kHz / 6 fhaigeat
2. 2kHz / 2 fhaiges
3. 1kHz / | fordiged
4. 4kHz / 4 fHageS

Correct Answer :-

. 6kHz/ 6 fPaiedw

37) The graph showing the relation between inductive reactance Xy, and the frequency ‘f” is: /

Wfore uferema x, 3R smgfxy v & i & Ty ) =i a1 T 3:

.
X
LY
1. f o
.
X
>
2. f
AL
L
3




i)
X1
>
4, f
Correct Answer :-
AL
L
>
. ]

38) The acceleration of a particle in SHM is: / THTITH A TDH HUT BT dR 0T glar %z
1. Always zero / LR R

2. Always constant / Eﬂ'EZ'IT RR

3. Maximum at mean position / HI&] fRUfd W stfremdn

4, Maximum at extreme position / TUXH fufa R sifdman

Correct Answer :-

« Maximum at extreme position / TUXH fufd R sifdman

39) The electric current in a circuit is increased uniformly from 1A to 11A during a time interval of
2s. Another coil of resistance 502 and mutual inductance 1H is placed near it. The induced current
in the second coil will be: /

2 AHUS & Y k1A | Th URUY (Afdbe) & faggd URT 1A F 11A T JUH FU I 315
Tt 81 50 Uk 3R 31— ISP 1H Tl TH 3T St ) 5D U IWT T | gt
1. 10A

2.0.1A

3. 1A

4. 2A

Correct Answer :-

- 0.1A



40) The average Kinetic energy of translation of one mole of gas and the average Kinetic energy of
translation per molecule of the gas are respectively. /

TN & TP U & RIFETGRY B 3T ot SHeit 3R A9 & ufer 3v] w=iaRor #t i Tfast
oIl PHTT: gl

1.3/2 RT & 3/2 kgT

2.3/2 kgT& 3/2 RT
3.2/3kT& 3/2RT

4, 2/3RT & 3/2kgT

Correct Answer :-

« 3/2RT & 3/2 kgT

41) The relation between the half life ‘T’ of a radioactive sample and its mean life ‘t’ is: /
TS JfSarafhg TR ot -3y T 3R I 3d 1Y <t °F At BT HAY §:
1.t=2.718T

2.t=0.693 T

3.t=T

4. T=0.693t

Correct Answer :-

e T=0.693t

42) The shortest wavelength of the Lyman series for the hydrogen atom is : /
TS Io URHTY] & g g A+ Aoft 3t g S1d avmewl @

1. 16/R

2. 4/R

3. 1/R

4, 9/R

Correct Answer :-

« 1/R



43) The radius of gyration of a body is independent of its: /
g e St uRynu Bsarsad . A @da gl 8l
1. Distribution of mass / SeIH o faaRUl

2. Size of the body / &1 & 3THTY

3. Mass / QUHIT

4. Position of the axis of rotation / Tﬂ:f 31& ot fRUfa

Correct Answer :-

o Mass / SHT

44) A radio isotope has half-life of 5 years. The fraction of the atoms of this material that would
decay in 15 years will be: /

qﬁgﬁ;ﬂ%ﬁmﬁﬁaﬁgsaﬁ%lwm&%mﬁmaﬁmmﬁmwaﬁ

1. 5/8
2.2/3
3.7/8

4.1

Correct Answer :-

. 7/8

45) If a ray of light is incident on a plane mirror at an angle of incidence of 30°, then the deviation
produced by mirror is: /

g YT B fH01 300 & TTAH BT IR TP AT SUUT TR ATafAd gl 8, ) SUor gRT
I faaaa giar g:

1. 30°
2. 90°
3. 120°

4. 60°

Correct Answer :-



46) Light waves can be polarized because they .
AT TR BT Yo oT fbar ot Geba &, Faife 9

1. are transverse in nature / Wﬁf | U g g

2. have short wavelength / BicT ?‘R_rl%{?ﬁ areit a?ﬁ % |

3. have high frequencies / 3™ 3{@%@[ areft gt 81
4. can be reflected / UfATSTId Pt ST Tebelt 3

Correct Answer :-

+ are transverse in nature / W | SITUYRY g gl

47) The resistance R = V/I where V = (100 + 5)V and I = (10 + 0.2)A. The percentage error in R is: /
AfaRIYg R= V/I 5181 V= (100 + 5)V 3R I = (10 = 0.2)A 81 R ¥ ufo=ra gfe &:

1. 25%

2. 10%

3.52%

4. 7%

Correct Answer :-

e 7%

48) 1f the wave function (in SI units) for an electromagnetic wave is given as y(x,t) =103 sin (3
x 106x — 9 x 10%t), then the speed of wave is /

fe, U faqgd ety a3 & foe @i Goe (THag soredl #) 39 @ve A fearman g i

y(x,t) = 103 sin (3 x 10%x — 9 x 10%), A TRIT P T &:
1.9 x 1016my/s
2.9x 10*m/s
3.3 x 10%m/s
4.3 x 10"m/s

Correct Answer :-



e 3x10%m/s

49) When the reverse potential in the semiconductor diodeis changed from 13V to 20V, the
corresponding reverse currents changes from 13pA to 40pA respectively. The reverse resistance

of junction diode will be: /

g s s & g (Raw) f9srg & 15VE 20V H g f&ar smar §.ar
HdfOT IchH ORT HHAT:150A F 40pA B AT 1 SiFere sEE &1 72T (Rad)
T grem:

1. 150 kQ

2.200 kQ
3.20k Q

4, 2000 kQ

Correct Answer :-

« 200 kQ

50) A wire of length '/ and cross-sectional area ‘A’ is made of a material of Young’s modulus Y. If the
wire is stretched by an amount *x’, then the work done is: /

TS /3R SIUR BIE ST AD! Th dR AT & HUie Y &1 It § 5+t 81 afe arR &1 'x' & 9=
T W ST g, fpar T o @

1. YAX?/

YAx?

2 1

(vAx)
3. 21

YAx?

4. 2

Correct Answer :-

YAX?

. i2f



Topic:- Chemistry

1) Which statement is correct about standard solution? /
A faqaq & IR § SH-91 Y 981 82

1. Secondary Standard solution is prepared from stable compounds readily soluble in water. / fedias

A faaae o & e 3 facy fRR 3! 3 daR fear S g |

2. Primary Standard solution is prepared from stable compounds readily soluble in water. / Uryfieh A

oo, o & S 9 fac fRRR Aol @ duR fear S g |

3. Concentration of Secondary Standard solution is not determined by Primary Standard solution. /

T A faaa o rsdr, wufie A faaae grT Rufd 78t &1 S 81

4. Concentration of Primary Standard solution is affected by temperature. / TP A faera ot
TSl AOH § THIfad gt 81

Correct Answer :-

 Primary Standard solution is prepared from stable compounds readily soluble in water. / UrYfieh A

oo, o & S & fac fRR Aol @ duR fear Srar g |

2) Which among the following transition metal oxides is an insulator? /
Frafafaa o ¥ F19-91 JHHur U1 fass U fAuares @qac) 82
1. ReO3

2.CrO,

3.TiO

4. FeO

Correct Answer :-

e FeO

3) Which among the following is called a carbylamines? /

fFrafafed d A A srfidaed= w1 wmarg?
1. R-CN

2. RCONH,

3. R-NC



4. R-NH,

Correct Answer :-

 R-NC

4) Which of the following is not optically active? /
fFrafafaa @ 9 o9 yaur guie (siifesdt tfdea) 78 82
1. [Co(en)3]3*

2. [Co(edta)]

3. trans[CoCl,(en),]*

4, [Cr(en)(NH3)2C|2]

Correct Answer :-

« trans[CoCl,(en),]*

5) A branched chain polymer of a-D(+)glucose is: /
a-D(+) TIHIS BT Ueh XA Y1 IgAP o

1. Nylon /:lTQFIV'FT

2. Bakelite/éﬁﬁ?r

3. Amylose /QTI'I_STﬂTrT

4. Amylopectin /Qm%?hfri%:r

Correct Answer :-

« Amylopectin /@Eﬁaﬁ:{

6) The half- life period of a radioactive isotope is 30 days. If we start with 10 g of the substance, then
the amount left after 90 days is: /

TS JSTITha RIS BT 3H-341g T 30 fa- +18 1 afe g7 ugrd & 10 IW | = H3d
&, 41 90 feA1 & a1e A IR B 8-

1.0.625g

2.5g



3.1.25¢g

4.25¢g

Correct Answer :-

7) Baby feeding bottles are made up of: /

=l Y gIYUT BRI arelt St sod fAfHd gl 8
1. Polystyrene / EIV'IFﬁE'IBﬁ:[

2. Polythene /Uﬁ%ﬁﬁq

3. Bakelite /3%13?

4. Melamine /ﬁﬂ'ﬂ:ﬂ%_*f

Correct Answer :-

» Polystyrene / qvlaﬂzlﬁﬂ:l

8) Liquid A is mixes with liquid B to form a non ideal solution having positive deviation. The process of
mixing will be ./

TR A B a3 B P ATY TP YT P fagre arel T MR et faea= &1 fAfdfad o3 & fore
faf3ra forar simar g1 frgyor s 91 ufsean gt

1. exothermic in nature / Wﬁf T Seaadt

2. accompanied with decrease in volume / 3Tdd+ o HHl & 1Y T
3. neither exothermic nor endothermic /= 8 S>SHTET! 3R B oAt
4. endothermic in nature / W RIS

Correct Answer :-

« endothermic in nature / Wﬁf RIS

9) Among [NiCl4]2", [Ni(CN)4]%,[Ni(CO),] , [Ni(NH3)g]2* which is/are diamagnetic? /
[NiC13]2, [NI(CN)412,[NI(CO),4] , [Ni(NH3)e]2* & & BIH-IT Ufd-gaia 82

1. [NiCl,]% only / ad [NiCl4]2"



2. Both [NiCl;]2"and [Ni(NH3)g]?* / [NiCl4]2~ 3R [Ni(NH3)g]2* @
3. Both [Ni(CN)4]2"and [Ni(CO)4] / [Ni(CN)4]2" 3R [Ni(CO),] &Il
4. [Ni(NH3)g)2* only / bdd [Ni(NH3)g)2*

Correct Answer :-

- Both [Ni(CN)4]2"and [Ni(CO),] / [Ni(CN)4]2~ 3R [Ni(CO),] &Il

10) Arrange the following molecules in the increasing order of their bond angles. /
frafaRad sropsit &) 7% STay BN (d-s Weh) & d¢d A | TaRYd P |
W=CCly, X=BF3, Y=SFg, Z=BeCl,

1.Z< X< W<Y

2 W< Z<X<Y

33W<X<Y<Z

4Y < W< X<Z

Correct Answer :-

e Y < W< X< Z

11) The biodegradable polymer among the following is: /

fraferfad d @ Safrfiehy sgae @E@@EHtew uiiw) 2:
1. Polythene /qﬁ%ﬂ:{
2. Bakelite /3%13‘6

3. Nylon-2-nylon-6 / TIA-2-ATTd-6
4. Polyvinyl chloride / QTGNdTsd GRS S

Correct Answer :-

« Nylon-2-nylon-6 / TAA-2-ATIA-6

12) Hydrogen gas absorbs photon of wavelength 360nm and emits at 2 different wavelengths. If
one of the emissions is at 700 nm, the other emission is at ./

BIESIo Y a3 ¢ 360nm & Wil &1 =N weet g 3R 2 At adnded wr Il
gt 81 fe TSI H A TH 700 nm WR B, A gIRT I W ENMI



1.7 nm

2.760 nm
3.720 nm
4. 180 nm

Correct Answer :-

e 7nm

13) In aqueous solutions, copper in +2 oxidation state is more stable than in +1 oxidation state
because: /

g faaal |, +2 STRITHRT SawT | didT +1 SATRIBUT aTIT Bt go-1 H 31w R
g 8 i fP:

1. Smaller size variation between Cu2and Cu*l./ Cu2* Q_q' Cu'! & I BIC MHR B T Eﬂ?ﬁ %I

2. Larger negative hydration enthalpy of Cu®" than Cu'*./ Cul™ Gl KL T cu?t B fauma HBUTHS

oo TR gt g1
3. Greater reactivity of cut, / cut B 3 ffcpariiedr Eﬁ?ﬁ %I
4. 11" Ionisation enthalpy of Cu is very small. / Cu P @T‘ﬂ'q 3TIIHOT Q_"a?'—ﬁ dgd dH Eﬁ?ﬁ %I

Correct Answer :-

« Larger negative hydration enthalpy of Cu®* than Cu!". / Cul" Pl KL T cu?t Pl fa2md HBUTHS

S TR g B

14) Calamine is an ore of: /

SIS 1 T 0% 3
1. Calcium / BTeRTaH

2. Zinc / {5

3. Magnesium / REH

4. Lead / AS

Correct Answer :-

. Zinc/m



15) Name the substance used to control the humidity in air. /

ga1 # 7 &) FEfaa #3 & e Suah fee s ard uerd &1 9mm sagu|
1. Nitric acid / T&fcdh 37

2. Silica gel / Riferem1 Sid

3. Sulphuric acid / SRR 3T
4. Cryolite / ShTATATZC

Correct Answer :-

« Silica gel / ISINCARS]

16) Identify the colour of visible light absorbed by an aqueous solution of Ti3*. /

Ti** & TP T faaa=T gRT @M TIYHT YHT & 7T D Uga |
1. Violet and black light. / ST} 3R STl UHT

2. Orange and red light. / AR 3R TS TehT=T

3. Blue and green light. / et iR EREIR

4. Green and yellow light. / BT 3R Uil UepT2r

Correct Answer :-

« Green and yellow light. / 8T 3R Uidl YT

17) What should be the position of new element, formed by emission of an alpha particle by the
radium, which is present in IInd group of the periodic table? /

ISTH ERT TP 3BT HUT & Iodsi GRT 9411 dTel AU ded o1 RIS 1 g 91y, =it smad
ol & goER Iqg § g 32

1. IInd group / g1 HHg
2. Ist group / Ugdl HHg
3. IVth group / YT dHe

4. Zero group / ][I HHg

Correct Answer :-

 Zero group / [ HHg



18) What is pyrolusite? /

UEIIGATSE 182
1. It is an ore of chromium. /%WWW W%l
2. It is an alloy of transition metals. / g hHU ?ﬂﬂ\}ﬁ Gal &f%ﬁﬂﬂ %l

3. It is a mineral containing manganese. / g aTI:ﬂTYT gad Uh GBS %l

4. It is a lanthanide metal. / g U ?fil:nse Yrd %I

Correct Answer :-

« It is a mineral containing manganese. / dg U] Yad TUh LGB %I

19) What is the lowest Principal quantum number value of the shell which can accommodate f
orbitals? /

N BT qaA 1 G-I Ficy V=1 U T 8 St £ H& D JHTFIT B TPl 82

1.n=4

2.n=5
3.n=3
4.n=6

20) In Friedel-Crafts Reaction, AICl3 will act as a: /
fresa-woew siffsrar 7, Alcs,; 1 & w0 o &l Fear g:
1. Basic catalyst / &R ISP

2. Oxidizing agent / 3 FRIIHRUT Tsie (H\W@

3. Reducing agent / T Tolc (ITATAD)

4. Acid catalyst / 37T SERP

Correct Answer :-

. Acid catalyst / 37 SERP



Which among the following Haloalkanes would undergo hydrolysis readily by Sy2 mechanism? /

fFafafaa e A @ 19 sy2 frafaft gRT aerar I 9d-sraged | ToR S

1. Methyl chloride / THUTSA FIRES
2. Neopentyl chloride / ﬁtnﬁ?lgﬁ a%ﬁm

3. Tertiary-butyl chloride / TIRITR] FCTZd FARTSS

4. Tsopropyl chloride / IS KIRZS

Correct Answer :-

« Methyl chloride / RG] m

22) Which among the following is the sweetest sugar? /
freffeaa & 9 o1-30 9 At b 32

1. Saccharin / SHI

2. Sucrose / W

3. Fructose / ThaCIof

4. Aspartame / Q?qﬁ'q

Correct Answer :-

o Fructose / Thaa ol

23) Which among the following is an Amino acid? /

Frafafaa 3 @ o1 Te srfiAt et 32
1. Amylopectin / @Eﬁﬁﬁ:{

2. Pyridoxine / URRIS TR

3. Keratin / BxIfcA

4. Tyrosine / ‘c'r‘s’ﬁﬁ:[

Correct Answer :-

« Tyrosine / Elgili%ﬂ



Frafafed o 3 #19-91 te IRy yrary @eargs) 82
N, P, As, Sb, Bi

1. As and Sb / As 3{R Sb

2. As and Bi / As 3R Bi

3. Sb only/ Had Sb

4, As only / &Hdd As

Correct Answer :-

. AsandSb/AsGﬁTSb

25) Which among the following alcohols will readily undergo dehydration to form Simple ether
when excess of it is reacted with Conc. H,SO,4 at 0K? /

e & 9 $19-91 tedpled I SWR o1 i w33 & fore fAsiehiezor @ ey aarar
TSRl @ 919 SHP1 SAfUHAT 0K R K H,80, F 1Y Sfforar dwar 32

1. Butan-2-ol / @-2-31\1%'[
2. Propan-2-ol / IU=-2-3d
3. Propan-1-ol / UI0-1-3fTd
4, 2-Methylpropan-2-ol / 2-ﬁru13amﬁ=r-2-&n”?r

Correct Answer :-

 Propan-1-ol/ UIU--1-3fTd

26) Which electronic configuration refers to an element in d block? /
DIF-I1 S f=uTH, St TP | Th dcd B Hefdd Hara?
1. [Kr] 552

2. [Ar] 3d! 452

3. [Ar] 3d10 4524p!

4. [Xe] 4f! 5d! 652

Correct Answer :-

e [Ar] 3d! 4s?



27) Which of the following process leads to the emission of x-rays? /
frafafead & & $19-3 uftrar T fevon & e ot 3R & &t 82
1. g - decay / g -&I

2. A —decay / A &4

3. Electron capture / 3@3@’7‘[ PR

4. Positron decay/ UISIICIH &

Correct Answer :-

« Electron capture / E@ITE\T:T PER

28) Which of the following solution is isotonic solution? /
Frufafed & @ -1 faaes saea a1 32

1.0.2 M NaCl and 0.2 M Glucose / 0.2 M NaCl 3R 0.2 M "?ﬁ'ﬂﬁf
2. 0.2 M Sucrose and 0.2 M CaCl, /0.2 M W 3R 02 M CaCl,

3.0.1 M KNOj and 0.1 M Ba(NO3),/ 0.1 M KNO; 3R 0.1 M Ba(NO3),

4,.0.1 M BaClZ and 0.1 M Na2804 /0.1 M BaC12 \3‘ﬁ? 0.1 M Nast4

Correct Answer :-

- 0.1 M BaCl, and 0.1 M Na,SO, / 0.1 M BaCl, 3R 0.1 M Na,SO,

29) Which one of the following is NOT a condition for hybridisation? /
Frafafad d | 19-91 96 @R NeseR) & et 3« [81 872

1. Promotion of electrons is an essential condition prior to hybridisation./ HHI0T I usa 581 :I’ [ hT
JaeH Th M= U 5

2. It is not necessary that only half filled orbitals participate in hybridisation./ Ig Wﬁ%ﬁ?

Had Y WR U H& YH0T H YT Ad &

3. The orbitals undergoing hybridisation should have almost equal energy./ GHI0T ‘\J,\)Nq ardl Tﬁ&‘ﬁﬁ

YT SRR Soll 8141 IMBT

4. The orbitals present in the ultimate shell and the penultimate shell of comparable energy undergo

hybrigisation. / ST R T Hig Hefl 3R AT Sl b U A Bl GH0T F G oIl
HGIGL

Correct Answer :-




v

» Promotion of electrons is an essential condition prior to hybridisation./ IJH0T g usa sadg
T94q uw 3navass UM B

=)

30) Which one of the following cannot form pentahalide? /
Frafafea & @ o1 Yergass 81 a1 & 32

1. As

2.P

3.N

4. Sb

Correct Answer :-

« N

31) A student has to perform a titration between weak base and strong acid. Which Indicator will
he choose for the experiment? /

TP BT P HHEIR &R R HOIgd 37 & 19 TP SFTHATIT (TS ) U= ST 8 1 TGN
2q 98 fou Jdas ESihex) o1 I I

1. Methyl orange / fhursa 3RS
2. Thymol blue / QJVTQII?TG_Q‘J\

3. Phenolphthalein / SEIEERNIR]
4. Litmus solution / fefcd¥ faera=

Correct Answer :-

« Methyl orange / fHuEa SRS

32) The composition of matte in the extraction of copper is: / e & frepyur A Ae &Y Sraar an
HaIeH g

1. FeS only / $Hdd FeS
2. Cu,0 and FeS / Cu,0 3R FeS
3. CuyS and FeS / Cu,S 3R FeS

4. CuS and Fe,S3 / CuS 3R Fe,S;

Correct Answer :-



« Cu,S and FeS / Cu,S 3R FeS

33) The lower oxidation states in group 14 elements are more stable down the group because of : /

e 14 ¥ a@l ® = sifrfiewor fufa, s d R eam wR st RR e T = &
W@?ﬂ%

1. Inert pair effect / SGTGH ﬁlg F OHTd

2. High electron affinity / 3= sﬁa%j:{ YT

3. Electron transfer to vacant d orbitals / e d ®efl 5€1qu4 RIEBIGRY
4. Low ionization energy / P H IR ol

Correct Answer :-

« Inert pair effect / AR GKS‘ [ gHTd

34) The stability of complex can be expressed in terms of: /

Fruaay ot fRRar o = Ao # orad forar s gean @:
1. Rate constant / G¥ RRi®
2. Tonization constant / 3TATHIHRU] R

3. Equilibrium constant / JTRITIRIT fRRRi®
4. Gas constant / T fRRi®

Correct Answer :-

 Equilibrium constant / HIETIRIT RRi®

35) The electronic configuration of Mn?* with respect to outermost and penultimate shell ( at no.
25)is:/

IaQ 9183 3R Ui A (TBWAT 25 W) F Y& A Mn?2* HT g P =g f= 2
1. 3d°4s"
2. 3d%4s?
3. 3d%4s"

4. 3d%4s!



Correct Answer :-

. 3d%4s°

36) The enthalpy of neutralization is highest in: /

IR0 (RITaTsoF) @1 T 99 3= 39 Bl

1. HCl + NH,OH
2. CH3COOH + NH,OH
3. CH;COOH + NaOH
4. H,S0, + NaOH

Correct Answer :-

. HzSO4 + NaOH

37) The rate constant for a chemical reaction has units L mol "1s "1 .The order of the reaction will
be: /

Tw RS yfaferar & g g fRRTE | P18 L mol s 1 g1 ifHfohan @1 wife fw gift:
1.3
2.0
3.2

4.1

Correct Answer :-

38) According to Arrhenius equation, the rate constant of a reaction is equal to: /

M3 THHIV F AR, T 3iffrar 1 R RR1$ A F ur gl e:

2. Ae -Ea/RT
3. Ae RT/Ea

4. Ae -RT/ Ea



Correct Answer :-

. A EaRT

39) When 10 grams of cupric sulphate solution is electrolyzed using 0.01 faraday of electricity, copper is
deposited at cathode and oxygen is discharged at anode. The weight of the remaining solution will be:/

W9 & ITH RIS Tetbe [aaa i faggd & 0.01B-1S &1 U4RT $X dggd suufed fpar wrar 8, ot
FUs  qiar a8 orar 8 vd sifwfteq, ¥ wR 3o 8 SiTaT 8 | Y faery &1 awi= ghm:

1.7.83g/7.83 9
2.5.09g/5.09UH
3.8.38g/8.38 U
4.9.06 g/ 9.06 ITH

Correct Answer :-

+ 9.06g/9.06 UTH

40) The specific conductivity of N/10 KCI at 20 Cis 0.0212 ohm 1 cm! and the resistance of cell

containing this solution at 20 c is 55 ohm. The cell constant is: /

20 ¢ T N/10 keI 9t RIRTE ITe@@ar 0.0212 ohm™L em1 R 3R 39 Rieras wfya S« &1 ufRiy 20 ©
TR 55 ohm 21 ¥ fRR® &:

1.1.166 cm™
2.3.324 cm’!
3.2.173 cm™
4.4.616 cm’!

Correct Answer :-

e 1.166 cm’!

41) The boiling point and enthalpy of vaporisation of a substance are -173 °C and 840 J mol1
respectively. The entropy of vaporization is: /

wyagf%maﬂwma?msﬁ?@?ﬁmz -173 °C 31X 840 J mol'! g | ATOfHUT B

108 [ mol K1



45 [ mol k™1
2.

820 J mol K1
3.

, B4 Jmol K1

Correct Answer :-

42) White powder of ZnO turns yellow on heating because it exhibits: /

ZnO T g YIS TH B4 W Fie g STt 3 iifes g uahia s e:

1. Metal deficiency due to cation vacancies. / 4T Rfddl & HRUI Yrd D1 e Hl

2. Metal excess defect due to anionic vacancy. / BUMA Rfddr & BRI g D1 3P HHl
3. Metal excess defect due to interstitial cations. / 3{ARTAT Y] o BRI Yrd Dt e Hl
4. Schottky defect. / RIGEARAL

Correct Answer :-

« Metal excess defect due to interstitial cations. / 3IRTT YAl o BRI Yrd Dt %D HHI

43) .
Oxymercuration
But-l1-vne =B
HgS0, + H,50,
Identify the product 'B'.
/ 3c91E ‘B’ I TgHIAC]
0 o
4 H—-d’
H.,C—CH,—C + 3
OH OH
1.

HEC_CHE_Iﬁ_CHE
o

HC— CH,—CH,—CHO



A A
He—CH—¢  + H—C
Y, h,

H H

[0] N -
Toluene ——»= P EDH;-Q malmpR

Identify the product 'R

| 309 R &I ggarfAv

1. Phenol / oIl

2. Benzene / Soi-l

3. Sodium benzoate / NSTH ST

4. Sodium phenoxide / GIfSTH TS S

Correct Answer :-

« Benzene /a'Trﬂ:f



The type of hybridisation on the asterisked carbon atom is: / TRTichd ] WA T

HHLOT & GFR b

H,C==CH——CH,—C ’é CH,
!
1.sp
2. sp?
3.sp3d
4. sp3

Correct Answer :-

46) Identify [X] and [Y] formed during the reaction.

HBr/ Peroxide SbFs

But-lene = [X] =2 [Y]

Al

et & et fafdd [X] 31k [Y] & gg=med|
HBr/RIda55  SbF:

FElTE > [X] S Y]

A

1. X = 1-Bromobutane
Y = 1-Fluorobutane. /
X = 2-shHIegeA
Y = 1-WiRIGeA
2. X = 2-Bromobutane
Y = 2-Fluoro-2-methylpropane. /
X = 2-SHegeA
Y = 2-TRI-2-fryrgeio

3. X = 2-Bromobutane



Y = But-2-ene. /
X = 2-shHIegeA
Y = §2-2-TH
4. X =1-Bromobutane
Y = But-1-ene. /
X = 1-shHIgeA
Y = &ge-1-TH
Correct Answer :-
« X = 1-Bromobutane
Y = 1-Fluorobutane. /
X = 2-SiHiegeH
Y =1-T

47
) p¥? of NHz is 4.752 at 25 °C. The p*2® of NH4* is: /

NH: T p¥¥ 25 °COY 4.752 &1 NHs FT p¥e I

1.7.632
2.9.248
3.6.529
4.11.52

Correct Answer :-

» 9.248

48)
Calculate the pH of a buffer which is 0.1 M acetic acid, 0.2 M sodium acetate and p¥@ of acetic
acidis 4.767 /

UF 6 & pH T 0T fifav Faer vfafes offs 0.4 m, 83T wwiee 02 m 3R
vfafes vids &1 p¥e 47687

1.5.32

2.4.2



3.5.06
4.6.02

Correct Answer :-

« 5.06

49)
From the following reaction, predict the product ‘A": / Peaef@a wfdfear &, 3cag &’ &1

IeTATA I

4+ CHli — = A

N\

1. Cyclopentanoyl anion / Hlsdﬂlq'aﬂTQG BUIMYA

AN v

2. Cyclopentanoyl cation / Hlsdﬂlqaﬂlqm YATgA

D\ /) o

3. Cyclopentanoyl radical / HI%dQ’IIL\J'a'-I ga fsahd

AN v o

4. Cyclopentanoyl biradical / Hlsdﬂll-l.aﬂlqm [gHdD

Correct Answer :-

N

» Cyclopentanoyl anion / HlsdﬂIMCﬂTtlm BUMYA

50)
Which of the following is the correct relationship for the following reaction? / faFaTaf@da

ywfaferar & v o v fGecat 7 @ slaar o8y ge9g 22

MNz+ 3H: —= 2NH;

1. None of these / E_flﬁ I ﬁ's‘ :Igjf

5 AH =AE+RT

3 AH = AE + 2RT

Correct Answer :-



Topic:- Agriculture

1) The development of small curds in cauliflower is known as: /

paf # Bie-8i Feal & faer o A9 wu ° 9 91 8:
1. Whip tail / f@T e
2. None ofthese/s:lﬁ?faﬁgﬁ

3. Blindness / 3{4dT (®_Q'||3.3§|¥|)
4. Buttoning / gef

Correct Answer :-

 Buttoning / CEE

2) Ina system of planting, row to row distance is greater than plant to plant distance. /
T @1 faftr &, dtd & 91 3t g Bt gam | ufda @ ufda o1 gt eiftre gt 81
1. square/aﬂw

2. triangular/aﬁ\_rlw
3. diagonal /ﬁWﬂ

4, rectangular / HTIdIHR

Correct Answer :-

« rectangular / HTIdHOR

3) Allowing a field to remain vacant for one or more seasons is called .

TS 91 TS 9 S HiaHl & e fFadt @7 S @t e & Hearar gl
1. crop rotation / XTI (BT Th)
2. field fallow / &F TRt (Bles Wreal)

3. Monoculture / Th YRR (HHIdh o)

4. multiple cropping / IgI&I (Heciud HITU)



Correct Answer :-

. field fallow / &5 TRdl (Bles Beall)

4) Potassium is a major nutrient required for: /

TeRmA % T smavye Ue U@ NI da B
1. Cementing synthesis / AT d=eryor

2. Opening and closing of stomata / YU B W 3R EH ?ﬁef
3. Chlorophyll synthesis / tI'UT—EiﬁH BESLLYE

4. Protein synthesis / N IRy

Correct Answer :-

« Opening and closing of stomata / I & @T“Ief 3R de ‘eﬁ%r

5) Which of the following is a weed of wheat crop during Rabi season? /
T B F IRME A $ vd & A SHaTar TRUTIR S 182

1. Motha / HrT

2. Chenopodium / HHOITSTH

3. None of these / Sﬂﬁ@aﬁ%qﬁ

4. Jangalijowar/GiTlFﬁﬁ'R

Correct Answer :-

e Chenopodium / FHOTSTH

6) Which is the common method of irrigation practised in agriculture? /
P & Riars ot p3ma G fafy s <t 32

1. Surface irrigation / gdg! RS

2. Whip irrigation / e RS

3. Sub surface irrigation / 3U RCRAREIE

4. Sprinkler irrigation / f&g®Ta RGN

Correct Answer :-

» Surface irrigation / el ﬁﬁﬂ'ﬁc



7) Which among the following is a climacteric fruit? /

Frafafeaa o @ s19-91 ve 594 fgfa (Fasifas) va 2

1. Strawberry / Ej%ﬁ

2. Citrus / T3S (AP IART AT A1Ga)
3. Banana/m

4. Grapes / 31X

Correct Answer :-

e Banana/ Bl

8) Coccidiosis is caused by .

PlqSaIRME & PRUTGIAT B |
1. virus / ﬁ'ﬁlTUl

2. fungus / P dh

3. protozoa / PICSIE

4, bacteria / GﬂaTUl

Correct Answer :-

* protozoa / PIESIEN

9) When the second crop is planted before the harvest of the first crop is called .
o9 TSl BUd B HeTs A Ugd gasl BAd TS ATt 8, a9 39 IS
1. relay cropping / S{JUc I

2. crop rotation / ESEICIE

3. dual cropping / fg &=

4, sequential cropping / W RIRE

Correct Answer :-

« relay cropping / U I

10) Planting wheat year after year in the same field is known as: /



TP 31 Wd T ATA-GR-Te g D1 IJUTS BRAT S eldl o:
1. Relay cropping / 3JUc I (Rt wift)

2. Monocropping / b ¢l J¥

3. Crop rotation / JTad_

4, Sequential cropping / W RIRE

Correct Answer :-

» Monocropping / Uch o &4

11) Growing different crops in the same area in a sequential season is known as: /

TS HiU® a4 U g & § fafira wad 3T+ &) $gT1 oA &:
1. Mixed farming / TSI ST

2. Multiple cropping / SO (Hec Ud hifu)

3. Crop rotation / TRITAAH (H1T JCTM)

4. Co-operative farming / EhRI w

Correct Answer :-

» Crop rotation / J=da (ﬁq IR )

12) Khoa contains ___ of milk fat. /
G guaargargl

1.30%

2.20%

3.5%

4. 10%

Correct Answer :-

e 30%

13) Methylene blue dye reduction test in milk indicates the ./

¥ # AR = ¥9 sra=ras udiaron HUCERGIE]



1. microbial load / ﬁ&*lﬁﬁa)f HR
2. starch content / WTE A=

3. protein denaturation / iG] ﬁm
4, fat content / T HIAT

Correct Answer :-

« microbial load / ﬁ&*ﬁﬁa)[ YR

14) Very few plants grow in clayey soil because it has low ./
Rt go1 ¥ 959 o8 N9 I § Fife s HU A 8l
1. air content / AT HIAT

2. carbon dioxide / BT STFHRITSS
3. water content / SI¢T HIAT
4, sand particles / Id BT

Correct Answer :-

« air content / dIY HIAT

15) Pusa Nanha is a variety of: /

a5 e 3t e &
1. Mandarin / TR

2. Pineapple / AT

3. Papaya / qdtar

4. Banana / bl

Correct Answer :-

« Papaya/ qutdr

16) Pusa Chetki is a variety of crop. /
LGIEGE] Bd 3 fFH I

1. carrot / 7Tl



2. radish / &l
3. ridge gourd / éRg
4. cucumber / GIRT

Correct Answer :-

. radish / et

17) What is the unit for measuring density of soil? /

HaT & T B UIUA B 3HTS T 82

1. Mgm'3

18) What is the protein content of cow milk? /
T & g W WA B ar fra gt 82

1. 3.60%

2.2.7%

3.1.63%

4.3.50%

Correct Answer :-

e 3.50%

19) Kangayam breed is considered as a: /
FNMAARADITH _ HAETSAET gl

1. Dwarf breed / &I (:ﬂﬂ) T

2. Dairy-purpose breed / éﬂﬁ-d%-‘lq CIRIKEN (@ﬂﬂ-tl'q%f §ﬂ3)




3. Draught-purpose breed / SdTs-3& %4 dTdil & (SIC-UUW 1)
4. Dual-purpose breed / %—B%Qﬂ CIRIGES (@ﬁ-m @3}

Correct Answer :-

 Draught-purpose breed / G\Fﬂgﬂ%ﬁq CINIGE] (g'l_cr-tlﬁﬁ aﬂs)

20) All of the following techniques are household preservation techniques, EXCEPT for: /
Frafafaa ot aoid avq uiRemr ae-s ¢, Rar sa:

1. Smoking / H (F:hﬁv_"[)

2. Dehydration / IEENICZU| (%E@QF‘D

3. Lyophilisation / SaAGIHRUT (AR TS oIR)

4, Salting / <IdU[ (GT%TD

Correct Answer :-

+ Lyophilisation / SaAg BRI (AT TS oIXH)

21) Rotation of crops is essential for: /

Iadd__ 3q Saa® gl

1. Increasing fertility of soil / Hal B I dq‘;l:l

2. Increasing quality of proteins / PIGEIED] BUCKI a’arfr
3. Increasing quality of minerals / @l B RCKII aafr
4. Getting different kinds of food crops / faf¥a YR &1 W1 et U &=

Correct Answer :-

+ Increasing fertility of soil / H&l B I ®|G_>I:|

22) A plant growth regulator used to increase the fruit yield in chilly is: /

il # well @) UgraR 9eM ¥ fore SuahT forar wiM are urey gfs fFrame §:
1. Gibberellin / foraRfer
2. Triacontanol / W?HVW

3. All of these / ¥ It



4. Cytokinin / N IEEIEIRE!

Correct Answer :-

 Triacontanol / EAl‘s‘QGSl%I:HEI

23) is a tractor-driven implement used for shallow tilling, killing weeds and covering the
seeds. /

TSP e Il SUSIUT ¢ RRIPT SUURT Yl S[aTs H31, WRUGIR o1 ARA 3R fieil
&1 ePp & fore fpar wrar g1

1. Planter / §3ﬂ_5c 7 (@?T)
2. Plough / gl

3. Harrow / %?3[ (g‘T[)
4. Hay Baler / %’ aFIT

Correct Answer :-

- Harrow / 831 (87M)

24) is an infection transmitted by dogs to cattle. /
_ ol gRTHARm § 3 v w3l
1. Ranikhet / IMIEd

2. Rinderpest / U] T m
3. Rabies / XSSl

4, Ringworm / Qg

Correct Answer :-

. Rabies / Y&Iof

25) is called as Queen of fodder crop. /
B IR qTeAt B PI AT YT AT 3 |
1. Maize / Hah1

2. Jowar / SdR

3. Lucerne /@7\:



4. Berseem / STH

Correct Answer :-

» Lucerne/ @ﬁ

26) is a form of overhead irrigation. /
for Riwrs (staves shiem) $1Ts Fu 2
1. Sprinkler irrigation / Wla ﬁl?lTs‘
2. Drip irrigation / %q ﬁﬁﬂg
3. Terraced irrigation / ;ﬂm ﬁﬁﬂé
4, Centre pivot irrigation / C-K| ﬂ_\ﬁ ﬁﬁﬂg

Correct Answer :-

« Centre pivot irrigation / G- ERT ﬁﬁ”é

27) is NOT related with dry farming. /
7 Wl A Hefia A8 8l
1. Effective use of available moisture / YA GHEE(_‘II T YU STIRT

2. High crop yield / 3 BOd Pl 3T

3. Capturing and conservation of moisture / 3Tl &1 UG 3R TR

4, Large size of field / OeME & dST 3H[hIR

Correct Answer :-

« High crop yield / 3 A &1 IUS]

28) A commonly used refrigerant is: /
HATIC:WART giAarar y=iae® g:
1. Carbon dioxide / BTE SEHFAZS

2. Freon/ W\I&T

3. All of these / T 4

4, Liquid nitrogen / &4 HET;\P'\_YFI




Correct Answer :-

e Freon/ ‘BFJT:T

29) Anthrax vaccination starts at: /
1. 2 year of age / 2 s &1 g d
2. 4 months 0fage/43:|_6ﬁefﬁ 3‘|T§1}[

3. 15t year ofage/la'ﬁfa'ﬁ 3G ¥
4, 15! week of age / 1 IWITg Bi 3G A

Correct Answer :-

e 4 months 0fage/4'5|_6ﬂ%f$)[3ﬂ§@

30) Transplanting is the popular method of crop establishment in: /

wfeRIgur (giawifé e & &t o arelt s = 3t ulies fafy g:
1. Maize / HabI

2. Groundnut / JITHL

3. Wheat / T8

4. Rice / dIdd

Correct Answer :-

o Rice/dldd

31) High yielding varieties of wheat were primarily developed by the Indian Scientist by crossing

traditional varieties with: / ﬁiaﬁmm%ﬁa@ﬁﬁa@wﬁ WWW
IRUR® fedl &1 e & 91y o1 (@eia) e faesRya foar war

1. European varieties / qﬁﬁ?ﬂ forer
2. Mexican varieties / AfdIe foe
3. African varieties / 31 fh e

4. American varieties / 3R fored

Correct Answer :-



« Mexican varieties / Afda®H [

32) A critical vitamin for poultry is: /

1. Vitamin E /faET&F[ E

2. Vitamin C / faerfiq ¢
3. Vitamin K /faT’.'T&IT‘T K
4. Vitamin A / faefim A

Correct Answer :-

o Vitamin A / fae™ T A

33) Yellowish to brownish milk is a typical symptom observed in which cattle disease? /
<Y BT YA | YRU | dea-1, Hafkml § ¢ 9 arat foe 1 &1 fafkrse @gror 82
1. Mastitis / SN (Y1)

2. Dystokia / Y U4 (SN

3. Tapeworms infection / TIdT BT UHHUT (CUTH Sha-H)
4, Tympany / Uc P (ﬁtﬁﬁ’b
Correct Answer :-

. Mastitis / SHURNY (YT

34) An anti-darkening treatment used on some fruits before drying is: /
Y A U O Bell TR WANT forar s ardr Td-sTh 1 SuaR §:
1. Blanching / SR

2. Autoclaving / 3Telaeid HRAT

3. Salting / <IdUI

4. Sulphuring / Jeth3d

Correct Answer :-

« Blanching / SAiTeRT



35) Potassium chloride contains of K./
uRRmAFiRgsH____ kffagargl

1. 70%

2. 60%

3.50%

4. 80%

Correct Answer :-

« 60%

36) In chain survey, the area is divided into ./
4T TAEIOT |, &7 Pi # fyvrfora fear sIrar 21
1. rectangle / 3d

2. triangle / ﬁﬂ\_ﬂ

3. hexagonal / W’Uﬂq

4. square / it

Correct Answer :-

« triangle / a'ﬂ\_ﬂ

37) Rickets occurs due to the deficiency of: /

@1 v (Rebed) e &Y ol & PRUT g @:
1. Calcium / BTeRITH

2. Magnesium / TofRr

3. Phosphorus / I IRY

4. Tron / 3T

Correct Answer :-

« Calcium / %%mm



9 B, o gics & oI 9gd Siftre STa &t smazashdi gidl 8, 8
1. Rice and Bean / 91ael 3R o1=q

2. Maize and other grains / Hdd][ 3R 3= 3T

3. Wheat and Maize / ﬁ‘g* 3R Hap!

4. Rice and Wheat / 19 3R ﬂ'ﬁ”

Correct Answer :-

« Rice and Wheat / dTddl 3%? ﬂTE

39) Crop rotation is essential for: /

qQEdd & fou smawae €
1. Increasing fertility of the soil / Hy:Gl DI IR aaﬁ & 1%111
2. Increasing quality of protein / I ol BUCKI aaﬁ CANIY
3. Increasing quality of minerals / Gl B BILUCKI aaﬁ & forg

4. Getting different kinds of food crops / faf s IR @1 WY Bad U A o o

Correct Answer :-

« Increasing fertility of the soil / Hy:al CARRERG] EI_GTI%T CANIY

40) Which among the following is a yellow vein mosaic resistant Bhindi variety? /

fFafafed 3 9 s-3 dia 31 91 RRT aee afaid i« e g2
1. Arka Anamika only / Fad 3 STHBT

2. Arka Abhay only / dd 3 Y

3. All of these / T GHt

o~

4. Parbhani Kranti only / %acl GR&- blf=d

Correct Answer :-

. All of these / T g4t

41) Which among the following is the largest source of Vitamin C? /
Frufafed & & eH-w fderftq c 19 se1HEa 82
1. Apple / 9



2. Mango / 3H
3. West Indian cherry / GLS %%u:[ ERil
4. Banana / Hd

Correct Answer :-

« West Indian cherry / G5 5%11? GFl

42) Which among the following is a variety of Mandarin orange? /
frafafed # 4 o19-W defa dw (Fshe s o1 e fw 72
1. Valencia late / JdRmEr de

2. Musambi / ﬁﬂﬁﬁ

3. Sathgudi / HYT Ig |
4. Nagpur Santra / -TTYY AT

Correct Answer :-

« Nagpur Santra / TNTY T

43) Which of the following has the highest crude protein content? /
frafafea # @ fead gaifie safvspa Wi 9o giar 32

1. Ground nut cake / §TTthell B1 Wil H (el dhob)

2. Soybean cake / TrareE &t T H (@WW

3. Wheat bran / 71§ & e §

4, Rice bran / I1ad & AT H

Correct Answer :-

« Soybean cake / ST ! Teit § (TS Do)

44) Which of the following is NOT considered as a proximate principle of cattle feeding? /
fafafea # @ f5 7afkml & smeR &1 Feean Rigia 78 AT sma 82

1. Crude fiber / &Ww (S WIgN)

2. Crude protein / chlﬂ'qo_d I (s PICIE)



3. Ether extract / _':‘gc?R Jd (g?ﬂ Qd*{-lad(i)
4. Pasture / RV

Correct Answer :-

o Pasture / dR[ g

45) Which of the following is NOT a physiographic factor affecting plant growth? /
freforfEa # @ F9-a1 Nd B gfg &) guifad S arem Yanepiae RS T8 82
1. Geological strata / QfTﬁ-ffq X

2. Topography / @Wﬂ?ﬁf

3. Solar radiation / GR fafeur

4. Altitude / SR

Correct Answer :-

« Solar radiation / @T fafeor

46) Which of the following disease causes abortion? /

Fafafad & Q H19-H S mefura &1 HRoT I 82
1. TB/Tlalt
2. Coccidiosis / PIFUITSTTRIY

3. Brucellosis / Tg:@?hﬁm
4. Rabies / &iol

Correct Answer :-

« Brucellosis / @?‘hﬁm

47) Which of the following is a double cut variety of Jowar? /
Frafafea 3 @ o1-9 wR 9 s9a oe fFw 32

1. PC-6

2. CO-27

3. HC- 136



4, HC- 171

Correct Answer :-

. CO-27

48) Which of the following is a buffalo breed? /
Frafafad & 9 F19-H 99 F ve =Ra 82

1. Brown Swiss / SIT3H g

2. Jersey / \_Il?ﬁ

3. Ongole / e

4, Surti / Rt
Correct Answer :-

. Surti / Rt

49) Which of the following is a Rabi crop? /
Frafafead & @ o1-0 & waa g2

1. Maize / SdIR

2. Groundnut / 'q:‘TCIW'ﬁ

3. Mustard / SR

4, Cotton / PUNH

Correct Answer :-

. Mustard / I}

50) Which of the following is a trace element? /

Frafafad § @ $19-91 T Ygd 71i® 9@ @9 eide) &7
1. Calcium / HTeRraH

2. Selenium / TaaH

3. Sodium / AITETH

4. Potassium / Ve fRIaH



Correct Answer :-

« Selenium / JATH

51) Which of the following is a fat-soluble vitamin? /
fFrafafed & Q w9-a1 aar § gasia faerfim 82
1. Niacin / IGRIRE]

2. Vitamin B / faeif= B

3. Vitamin C / faerfiq

4. Vitamin K / fae T K

Correct Answer :-

e Vitamin K/ fae K

52) Which of the following is the CORRECT order of agricultural practices? /

fFafefEa ¥ @ P99 $ ugfaal &1 9 FH 82

1. Soil preparation—sowing—irrigation—weeding—harvesting / &@0[ Gl ﬁw—m-ﬁaﬁ-ﬁvs‘-m
2. Soil preparation—-weeding—sowing—irrigation—harvesting / &I?[ G ﬁuﬁ-ﬁﬂs‘@aﬁﬁﬂﬁ-m
3. Soil preparation—irrigation—sowing—weeding—harvesting / &@Qf P W-ﬁ?ﬂg— qd I$C -ﬁ?'l_sf-d‘) c I’sr
4. Soil preparation—irrigation—-weeding—sowing—harvesting / Hal Wﬁﬂ]‘s‘-ﬁﬂ%‘-@aﬁ-ﬁé

Correct Answer :-

+ Soil preparation—sowing—irrigation-weeding—harvesting / ﬁ-l@ Gl ﬁﬂﬁ’r-@aﬁ-lﬁa 5-FRS-®ers

53) Which of the following is an organic pesticide? /
frfafed 4 @ o191 1@ S1d e Sl 52
1. Zinc phosphate / S widhe

2. Neem extract / 111 &1 3

3. Blue copper / BINIKIE]

~\

4. Chlorpyrifos / FARWBIZAH Y

Correct Answer :-



« Neem extract / F1H &I b

54) Which of the following is an organic fertilizer? /

fFafafed & 3 $19-91 te srdfAe IR §2
1. Urea / gRAT

2. Peat / Ul

3. Super phosphate / IR Hi€he

4. MOP/TH3NU

Correct Answer :-

. Peat/tﬂ_cr

55) Which of the following is an inorganic nutrient? /

fFafafed & @ o19-91 U@ SPE-e Uivs ad 82
1. Calcium / HfeRIH

2. Cellulose / YA

3. Vitamin / fdeTfam

4. Protein / UICHH

Correct Answer :-

o Calcium / %%mm

56) Which of the following groups are short day plants? /
Frafafea & 4 $11-9 wig oy faxfa did 32

1. Wheat, soybean and bajra / ﬁﬁw, TrTefi SR ot

2. Maize, lobia and bajra / HIh], AT 3R TR

3. None of these / S8 4 ®Ig gl

4. Wheat, mustard and gram / ﬁg, TG 3R T

Correct Answer :-

» Wheat, mustard and gram / ﬁ'g", TREY 3R =T



57) Which of the following is NOT an implement for intercultivation? /

fFrafafad & @ $19-91 v Sia:TuHT 1 3ia: P & fore v Wi (Susrvn) —8) 82
1. Rotary weeder / Tﬁﬁﬂ’sﬁ %ﬁ

2. Wooden plough / PI§ g

3. Small blade harrow / ¢ i %ﬁ

4. Seed drill / &5 aft=

Correct Answer :-

« Seed drill / IS aftA

58) Which of the following elements has NOT been proved to be essential for plants? /

fFrafafed & @ S19-31 9 vl & fore smazas arfaa T8 gan 32
1. Sodium / HIFETH

2. Molybdenum / Alfdies1H

3. Iron / AIIGT

4. Chlorine / AR

Correct Answer :-

. Sodium / e

59) Chlorosis occurs due to the deficiency of: /

sRuUdar_ #l ol & sRUr g 81
1. Calcium / HfeREAH

2. Magnesium / HHfREH

3. Sodium / STH

4. Chlorine / IR

Correct Answer :-

« Magnesium / ﬁmﬂ

60) Citrus canker is a disease. /



Rica ot U
1. mycoplasma-like organisms (MLO) /W@T-@@Gﬁa (QII'QF[G'?D
2. fungal /W

3. viral / ﬁ'qTUl
4. bacterial / Siarfoges

Correct Answer :-

 bacterial / Siarfigs

61) Terracing is an effective method of soil conservation in: /
T T M (RRA) __ H 4T YU BT TP YU DT 3
1. Hilly areas / qﬁ?ﬁ'q e'HBﬁ

2. Riverine areas / afa_cﬁéﬂa}f

3. Desert areas / IR fa?f

4. plains / fl?l:h

Correct Answer :-

« Hilly areas / BEGIRERE]

62) Most of the plants obtain nitrogen from the soil in the form of: /
IREMNY_ F 9 Yer I 5o urd H3d g

1. Nitrites / TTS¢IgCl

2. Nitric acid / :lw AT

3. Nitrates / :ﬂéa_@f

4. Free nitrogen gas / Hdd ?IE'@GFI T

Correct Answer :-

« Nitrates / :llgaél'

63) The mechanical manipulation of soils to provide a favourable condition for the crop growth is:

/



meﬁq%%?mw%ﬁmmﬁ%gqmﬁmﬁww-mwﬁ%ﬁw
)T -

1. Overturning / SYTT (3NARCIT)
2. Tillage / SIS

3. Digging / GaT§

4. Stirring / fa@ire=T (Ref&m)

Correct Answer :-

o Tillage / \_{J,?I'I_sC

64) The critical stages of water requirement in the rice crop are: /
ITqd & HHA H o B ATIID AT S HGaYUl TRUT 3

1. Booting only / PHad PRI (@%’T)

2. All of these / 4 THT

3. Active tillering and panicle initiation only / $Had Aihd PYDH (m ﬁﬁ‘lﬁ'ﬂ) 3R U =
FERITUT (A SHRTE)

4. Flowering and heading only / PHad g (‘W\Jlaﬁ_"[) 3R 2fief (%ﬁ';TD

Correct Answer :-

« All of these / T g4t

65) The hexagonal system of planting accommodates __ more plants than the square method. /
10T B} YeH IV YUt iR A &t edam 3rfire Wi wHTEIT HIA 21

1.30%

2.20%

3. 15%

4.25%

Correct Answer :-

e 15%

66) The process of removal of undesirable plants is known as: /



SIS Wl Y ge &1 ufthar &Y e = d §r=7 «rarn g:
1. Weeding / FRTS

2. Seeding / SISl ST

3. Threshing / TT&AT (ARI)

4. Winnowing / 3178 (fa=i1gm)

Correct Answer :-

. Weeding/lERlé

67) The minimum distance (feet) needed between a chick and the grower shed should be: /
R (M) R MR DS & e &) graw g (e §) B TR

1. 50

2.20

3.30

4. 40

Correct Answer :-

68) The characteristic symptom for Johne’s disease in cattle is: /

Tl & WA (Site) IR o1 ARy demr g:
1. Chronic salivation / §TdeTieIeh ARFIUT

2. Chronic diarrhoea / EdaTTeId AR

3. Mouth vesicles / T BT (Jfc)

4. Limb stiffness / 3T hglU-d

Correct Answer :-

e Chronic diarrhoea / ?ﬁw 3faOR

69) The most destructive pest of onion is: /

TS $T I fAReRI Fic §:

1. Thrips / f2rg



2. Mite / Y1
3. Whiteflies / GUb¢ Hawd!
4. Aphids / Tfthg

Correct Answer :-

o Thrips / f2rg

70) The albumen percentage in chicken egg is: /

T & 3 # Tosgfi (37 Y Ahdl) uferera giar &
1. 30%

2. 10%

3.58%

4. 15%

Correct Answer :-

¢ 58%

71) The floating aquatic weeds are removed by: /

R T AT WRUGAR =1 & RT g/ 91 &'
1. Dredging / & s0T (3fE™)

2. Cutting / T3 (P

3. Chaining / $GTH ()

4. Mowing / T hTe-T (A3TdT)

Correct Answer :-

« Chaining / %@FFT (%ﬁm)

72) The Langshan chicken breed belongs to: /
A=A i o1 v ufated 3 defta @

1. Mediterranean class / “{HW Gl

2. English class / 3PSt it



3. Asiatic class / QIElEIlg I
4. American class / ARt af

Correct Answer :-

o Asiatic class / E@mﬁaﬁ

73) The respective proportion of sand, silt and clay in loamy soil is: /
SIHe Her # ¥4, e 3R Rt ga1 &1 Feiftr ergurd g @:

1. 20:20:60

2. 40:40:20

3.40:30:30

4. 30:30:40

Correct Answer :-

« 40:40:20

74) The botanical name of mango is: /

3{TH BT qFYfA® A4 &:
1. Mangifera indica / Bifigser 15T
2. Ziziphus mauritiana / forsiiee aNirrarT

3. Carica papaya / F1®T grgrar

4. Punica granatum / 12]7%397 73

Correct Answer :-

- Mangifera indica / B1%T 31T

75) The lowest category of soil classification is: /
o1 Fiffevor & fFraaw goft 2:

1. Order / BH (3HTSR)

2. Family / $d@ (W)

3. Series / AT (HIS)



4. Great group / doc JHg (‘j_C' q4q)
Correct Answer :-

. Series / IO (Fﬂﬁﬁf)

76) The Central Research Institute for Dry-land Agriculture (CRIDA) is located at .

Hﬂmgﬁmﬁw &ea R §leye BRR 318 A TiiewR) (CRIDA)
L |

1. Bengaluru / aTIT:RR
2. Delhi / faeeit

3. Nagpur / NTYR
4, Hyderabad / %aﬂa [+

Correct Answer :-

« Hyderabad / %azlala

77) The instrument used to measure the total soluble solids in fruit juices is: /

wdl & 70§ $o faausiia 31 uerdf & arm & fre vy far s  arar suson g:
1. Spectrometer / TIGCIHICY

2. None of these / S8 U D15 ol

3. Penetrometer / UfIGIHTCR

4. Refractometer / RIpGRIHIC

Correct Answer :-

« Refractometer / ﬁfﬁﬁj—lﬂa

78) The milk alcohol alizarin test indicates i
Y TepTed SRR e P PRI R
1. acidity / 3{¥Idl

2. formalin / BTH o1

3. starch / &Id

4. chloride / m



Correct Answer :-

o acidity / 3Idl

79) The optimum carbon dioxide level (percentage) in an egg setter should be: /
TP 3 & e | gyad PIa- Sgeless W wfawrd #) g1 aifet:

1. Below 1% / 1% d H

2. Below 0.5% / 0.5% H H

3. Below 2% / 2% ¥ &H

4.3%

Correct Answer :-

. Below 0.5% /0.5% 3 ®H

80) The latex of papaya collected for industrial use is known as: /

N IUART & forg Tofaa udia & YaseiR (dead) &t 1y YR | I 1 ST §:
1. All of these / & Gt

2. Caricain / 1

3. Papain / 9U

4. Piperine / TUURH

Correct Answer :-

« Papain / U

81) The equipment which is used to find the density of milk is: /

Y & T B JTd B o o1 IUHRUT BT YART fhar oirar § 98 =1 8:
1. Graphometer / AW IHIER

2. Seismometer / R

3. Colorimeter / HIAIRIHICR

4. Lactometer / AdeIHIER

Correct Answer :-



« Lactometer / ClacIHIER

82) The study of fruit growing science is known as: /

PaAldIe A9 & 3Ie0d- &) Hgd &
1. Pomology / BNl

2. Olericulture / 3fTeRIB AR

3. Silviculture / Ricdidhear

4. Floriculture / TAIN® R

Correct Answer :-

« Pomology / qrarersi

83) The aim of plant breeding is to produce: /
UICU IS &1 3229 9 &1 I ST 8-
1. All of these / T T

2. High yielding varieties only / Had I UGl o arell b
3. Early maturing varieties only / dad 2y uRue g1 arelt fored
4. Disease free varieties only / &Had AT Had o

Correct Answer :-

. All of these / T g4t

84) The commercial propagation method followed for roses is: /

sl & T vgad $t o areft srraaiie yade faft fFrafafaa @
1. T budding / T G

2. Patch budding / ¥ (<) o

3. Air layering / ITg TRAA

4. Ring budding / T (@e10) Yo

Correct Answer :-

. Tbudding / T GHaH



85) The recurrent succession of crops on the same piece of the land either in a year or over a longer
period of time is known as: /

Y & U g1 R WR, U a¥ A a1 e THyATafy W Bl &1 YARIad! 3 H STl g:
1. None of these / 375 § 15 a1

2. Cropping pattern / TEIHH TGl (I e

3. Cropping system / T H YU (iU RieH)

4, Crop rotation / RGeS (QI?TLJ iléQH)

Correct Answer :-

« Crop rotation / TITA (QT)TH éléqu)

86) Haemorrhagic disease occurs due to the lack of: /

TaaaTd! IR 8 3t B & SR EIT B
1. Vitamin C / e ¢
2. Vitamin K / faeTf® K
3. Vitamin E / facIf89 E
4. Vitamin D / fdeTffA D

Correct Answer :-

« Vitamin K / fdei@M K

87) Directorate of Onion and Garlic Research in India is situated at: /
YR ® Aol R T8 gy ez e i w R« 3:
1. Pune / qﬁ’r

2. Nasik / TRy

3. Bangalore / SR

4. Mumbai / G875

Correct Answer :-

. Pune/E[@f



88) Paneer contains _____ of protein. /
R WdEdare

1. 10-20%

2. 5-10%

3.30-35%

4. 22-26%

Correct Answer :-

o 22-26%

89) The crop cultivated from June-July to October is called .
- A HFER AP P GAED_ PEI e

1. Zaid crop / S AT

2. Rabi crop / &

3. None of these / ﬁ'ﬁﬁ@{?ﬁﬁﬂﬁ

4. Kharif crop / @I wdd

Correct Answer :-

e Kharif crop / SIH BHd

90) The pigment responsible for green colour of plant leaves is: /
a1 uftral & 8% 1 P g Screrd auie @:

1. Chlorophyll /tl'Ung\’_Cf @?ﬁﬂﬁﬁ)

2. Xanthophyll / GO (ﬁm

3. Carotenoid /ﬁﬁ:ﬁs@'

4. Blue-green algae / Ha-gha AT

Correct Answer :-

« Chlorophyll / Tofgld (@RI a)

91) is the process in which CO; and water are converted into carbohydrates in the
presence of sunlight. /



% uihar 8 e i & yer @t SufRAfa ¥, co, 3R o9, Fafersee A
wUiaRd g1 od &1
1. None of these / 3TH J PIg g
2. Respiration / R4
3. Metabolism / JUUTT
4, Photosynthesis / UPIR[ BSEGLLY

Correct Answer :-

« Photosynthesis / TH1R TRAYT

92) The nutrients required in large quantity are known as
IS HET H STaRAP UNIYS dadl bl IY® dcd HgT oAaT 2
1. micro / J&H

nutrients. /

2. small / <Y

3. basic / Hdl
4, macro / 9ed

Correct Answer :-

« macro / 9edq

93) The system of cropping in which grasses are allowed to grow in interspaces of trees is
known as: /

T (I Horelt forTd gaif & srRTal # U1 &) 9¢- faum 5irar 8, 98 $eanil &:
1. Sod culture / WUTE[&[ Y (HUITS' Hed)

2. Cover cropping / 38T Y& (HaR HITUT)
3. Mixed cropping / fHi%d 9%+ (s HITUT)
4. Mulching / GIRAT (Afei)

Correct Answer :-

« Sod culture / FYUIYH T (TS HeoR)

94) Penicillin was discovered by: /



AR 1 @ie 370 gRT @1 T ot
1. Alexander Fleming / Jcigoi e} FATHT

2. Winogradsky/ﬁ:h'a@'{@ﬁg[

3, Waksman / d&GHH

4. Robert Koch / J§¢ I

Correct Answer :-

« Alexander Fleming / 3/cTaol g% TRITHIT

95) A potato variety which is resistant to cyst nematode is: /
7 e (Re Aurels) ¥ R uRRid ue arq e 2 :
1. Kufri Swarna / PRI ¥q00

2. Kufri Jawahar / BRI STATGY

3. Kufii Jyoti / P31 SAIfd

4. Kufri Sindhuri / %1 R
Correct Answer :-

« Kufri Swarna / m ol

96) Which of the following nutrients is essential for the seed development? /

o & farrg & fore FA=fafad A O 19-91 vive 9« Smaas 82
1.Zinc/ﬁfi$
2. Phosphorus/tl’f@w

3. Nitrogen / '_'||$€;|G|:|
4, Molybdenum / miferssTH

Correct Answer :-

« Phosphorus / BIRBRY

97) Which of the following is a micro-organism? /
frafafa # @ $19-31 e gea-siia 82
1. Bacteria /\_rﬂa'l'fﬂ



2. Snails / ©TdT
3. Mites / Y- (HIZC)
4. Millipedes / gg%dUTg (FArciidle)

Correct Answer :-

+ Bacteria /Gﬂa'l'fﬂ

98) The term 'AGMARK' is associated with the: /
s "THT A @ Helie @
1. Quality of vegetable production / Tfeordl & IdTG Dt UIddl

2. Quality of agricultural products / ?ﬁf JdTGl ol 1UTdcdl

3. Quality of egg production / 38T I Gl NUEKS]
4. Quality of milk production / G STTGH ! T[UTdel

Correct Answer :-

« Quality of agricultural products / ?ﬁf TGl I UTd el

99) The optimum concentration of pectin in fruit extract required to produce a good
quality jelly is .y

TS ST IUIGIT qTell Siell BT SeTeT B g ATTRAS Bl & b | Ufde ot srfgpaad
S gl 3

1. 3-4%
2. 5-6%
3. 1.5-2%

4. 0.5-1%

Correct Answer :-

e 0.5-1%

100) Tongue grafting is a modified form of: /
St waw de= (S Ifwem) $1 Uh GMRE = |
1. Inarching / NehaH g4 (E:TG‘I'I%T)



2. Whip grafting / IRIRIT wad e+ (fgu i)
3. Saddle grafting / BI3-HaH deH (FgA UMGT)
4, Wedge grafting / TAAl Had Se- (a\_ﬂ 1/'ITf'%T[)

Correct Answer :-

« Whip grafting / dRIRN S e (fgg i)



